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:This paper contains FIFTY (50) multiple-choice/assertion/reasoning

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the questions.

L WYl U (wo) siglasely wsdl, wywid A ASSL strddltl daedl

B, UM WSl FUs drart 8. udAs Ml & (R) w8,

Which of the following is a merit

good ?

(A) Food

(B) Health care
(C) Travelling
(D) Cigarettes

The committee on ecapital account
convertibility set up by RBI was

headed by :
(A) S.S. Tarapore
(B) C. Rangrajan
(C) Chelliah

{D) Dutta
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The offer curve of a nation shows

what the nation :

(A) must do

(B) can do

(C) is willing to do
(D) Any of the above

The mean of certain number of
observations is 50. If three numbers

70, 60 and 65 are added to this data,

the mean rises to 55. Calculate the

number of items in original data :

(A) N =4
(B) N=6
(C) N =10

(D} None of the above

Lorenz curve enables one to study

which of the following ?
{A) Average

(B) Dispersion

(C) Correlation

(D) Tax rate
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According to dynamic theory of
profit, profit arises due to :

(A) uncertainty
(B) Risk bearing
(C) Innovations
(D) All of the above

Consumer surplus under price

discrimination 1is-:
{A) Maximum
(B) Minimum
(C) Zero

(D) Uncertain

In monopolistic competition, firms

maximize profit where :

(A) Marginal Revenue = Average

Cost

(B) Marginal Revenue = Marginal
Cost

(C) Marginal Revenue = Total
Cost

(D) Marginal Revenue = Average

Revenue
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10.

If marginal utility is zero :
(A) Total utility is maximized

(B) An  additional unit of
consuﬁ;ption will increase total
utility

(C} Total utility is zero

(D) An additional unit of
consumption will decrease total
utility

High powered money is :

(A) Bank’s reserves at Central

Bank
(B) Money held by bank

(C) All loans and advances of

bank

(D) Currency held by public and

cash reserves of the banks
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11.

12.

13.

If the economy is operating at
potential GDP, an increase in

money supply will lead to :
(A) Stagflation

(B) Structured inflation
(C) Demand side inflation
(D) Supply side inflation
The market

loanable funds

determines the :
(A) Present value of assets

(B) Marginal revenue product of

loanable funds
(C) Interest rate
(D} Differential land rent
Who, the

among following

economists, used the technique of
‘Kinked demand curve’ to explain
price rigidity under oligopoly ?

(A) Paul Sweezy
(B) R.L. Hall and C.J. Hitch
(C) Edward Chamberlin

(D) George Stigler
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14. Deteminant of the maximum profit

15.

16.

for a firm is :

(A) Price

(B) Average cost

(C) Both airérage cost and price
() The output level

Which of the following best

describes allocative sufficiency ?

(A) Resources are allocated

optimally overtime
(B) Inputs are allocated efficiently

(C) Prices are equal to marginal

cost

(D) Output is maximized and

inputs are minimized
Strong ordering means :
(A) Absence of indifference
(B) Presence of indifference

(C) No difference between different

combination

(D) None of the above
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17.

18.

In the fundamental theorem of
consumption and to prove the law

of demand, Samuelson uses :

(A) Compensating variation in

income
(B) The cost difference
(C) The over-compensation effect
(D) Substituting variation in price

Which of the following statements

is true ?

(A) Hicksian substitution effect is

greater than Slutsky

substitution effect

(B) Slutsky substitution effect 1s

greater than  Hicksian

substitution effect

(C) Hicksian substitution effect is
same and equal te Slutsky

substitution effect

(D) Hicksian substitution effect is

the reverse of Sultsky

substitution effect
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19.

20.

Which law states that with given
taste and preference the proportion
of income spent on food-stuff

diminishes a.s inco.me increases ?
(A) Engel's law

(B) Gresham’s law

(C) Giffen’s law

(D) Say’s law

When there is unemployment
caused by a lack of consumer
spending, we classify this type of

unemployment as :
(A) Cyclical
(B) Regional
(C) Seasonal

(D) Structural

Economies—I1
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21.

22.

Which of the following best defines

cost-push inflation ?

(A) Price rising due to an excessive

growth in aggregate spending

(B) Price rising due to an increase

in the price of a Firm’s inputs

Price rising due tc an over-

(C)
rapid growth in the money
supply

(D) Prices falling over a period of

time

The Phillips curve describes the

relationship between :

(A) The federal budget deficit and

the trade deficit

(B)

Savings and investment

(C) The unemployment rate and

the inflation rate

(D) Marginal tax rates and tax

revenue

Economics-I1
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23.

24,

25.

According to the monetarists in the

long run the Phillips curve is :
(A) Vertical

(B} Horizontal

(C) Downward sloping

(D)} Upward sloping

According to Kuznets, during the
process of development the income

mequalities tend to :

(A) Decrease

(B) Decrease first and then increase
(C) Increase

(D) Increase first and then decrease

An underdeveloped economy is

generally characterised by :

(A) Co-existence of underutilized

labour with unexploited

resources

(B} High ratio of commercial

farming to subsistence farming

(C) High ratio of industrial output
to total output

(D) High utilization of existing

capital in the economy

Economics-I1
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26. The development process under

27.

capitalism has been described as

‘Creative destruction’ by :
(A) J.M. Keynes

(B) AH. Hansen

(C) J. Schumpeter

(D) M. Friedman

In Harrod Domer equation g = s/v,

v 18 defined as :

(A) value of the country’s capital

stock

(B) the ratio of the country’s capital

stock to its output

(C)

the change in the country’s

capital stock

none of the above

(D)

Economics—I1
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28.

29.

Critical minimum effort thesis was

propounded by :
(A) Ricardo

(B) Marx

(C) Leibenstein
(D} Nurkse

What is the correct sequence of the

following approaches to

development in terms of their

chronological emergence 7

(@) Basic needs approach

(b) Per capita income approach

(c)

Human development index

approach

Select the correct answer using the

codes given below :

(A) (@) () (o)

B) &) (@ (@

)y & © (@

D) @ () &)

Economies—I1
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30. What is the current share of central

taxes the states in India ?

(A) 31.5%
(B) 30%
(C) 42%
D) 29%
31. The extraction of iron ore has been
increased on account of increased
. demand for steel. The above is an
example of :
(A) Forward Linkage
(B) Backward Linkage
(C) Backward and Forward
Linkage
(D) None of the above
Economies—I1
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32.

33.

When interest payments are
substracted from fiscal deficit, the

remainder is known as :

{A) Revenue deficit

(B} Primary deficit

(C) Monetised deficit

(D) None of the above

Debt service ratio is a ratio of :

(A) Total debt which is to be paid

in the term of interest burden

(B) GDP which is to be paid as debt

(C) Export earnings which are to
be paid by way of interest and

principal

(D) None of the above

Economics—I1
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34.

35.

36.

Who was the chairman of the 14th

Finance Commission ?

- (A) C. Rangarajan

(B K.C. Pant
(C) Vijay Kalkar
(D) Y. Reddy

In deficit financing when deficit is
met out by imposition of tax, the

budget is known as :

(A) Deficit budget

(B) Surplus budget
(C) Balanced budget
(D) None of the above

At what points GST will be

levied ?

(A) Centre

(B) State

(C) Both Centre and State

(1)) None of the above

Economics-I1
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37. What is the ratio between the price
of a country’s export goods and price

of its import goods known as ?
(A) Single factoral terms of tradé
(B) Double factoral terms of trade
(C) Net Barter terms of trade
(D) Income terms of trade

38.

is equal to :

1

(&) mpm + mps

1

(B) mpm — mps

(C) mpm + mps
1
D)y ——

mpm

Economics-I1T
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39. Which one of the following

4Q.

conditions is not assumed by the

factor price equalization theorem ?

(A) The countries are characterised

by different factor endowments

(B) The countries are characterised

by different production funetion

(C) The industries are
characterised by different factor

intensities

(D) Each country will export the

commodity which uses its
abundant factor relatively

intensively

Heckscher Ohlin theory states that
the most important cause of trade

is difference in :
(A) Preferences
(B) Technology
(C) Magnitude :

(I} Factor edowments

- Economics—I1
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4].

42.

43.

Coefficient of correlation is
independent of which of the

following ?

(A) Change of origin only

(B) Change of scale only

(C) Change of origin and scale
(D) None of the above

Which of the following is a

~ positional average ?

(A) Arithmetic mean
(B) Geometric mean
(C) Median

(D) Harmonic mean

Which of the following economists
suggested the doctrine of laissez-

faire ?

(A} David Ricardo
(B) Adam Smith
(C) Ohlin

(D) Heckscher
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41,

42.

43.

Adedolardl wsrioiais ARunidl siquel
Aot a Ay 53 8 ?

(A) ol GeetgHl adl 382

(B) % st (Scale) i acll %zspz
(C) Geodd A s& oinHl udl 33512
D) Gu-uniell s ya -l
AAAmil sy W ey ¥ 87
(A) sulRdls eus

(B) olififas seus

(C) M=y

(D) dleld Heus

lAuniell sy el s sl

Rigict »uwi?
(A) S[s [sisl
(B) sy w{ly
(C) el

(D) 5%



44. Human Poverty Index (HPI)

45.

measures the deprivation as a

composite index of :

(A)

(B)

(C)

D)

Longevity, Nutrition and
Knowledge
Knowledge, Basic needs and

Standard of living

Longevity, Standard of living

and Sanitation

Longevity, Knowledge and

Standard of living

The rate of capital formation in India

during the fiscal year 2013-14 is :

(A)

(B)

(€

(D)

38.6% of GDP

34.2% of GDP

34.7% of GDP

35.2% of GDP
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44. Hia el tis (HPD) dfladiqd

45.

(Al sl AYsa s add Wl

97

(A)

(B)

(C)

(D)

AL Alb] YW, UM, S
A, Yoo w3(ruldl 24 wast
ST

A2 Ale] VUYL, DAAEEL 2,

W 9cll

AL @io] 2y, silr vl wan

(L8

R013—9¥ *ll Ml HiRAMi 43l satel

£ kedl wdl?

(A)

(B)

(C)

(D)

ANIY dudsl 38.6%

ALY 28l 34.2%

AN Bllasal 34.7%

gly wasq 35.2%

[P.T.O.]



46.

47.

What is the level of revenue deficit
of the Union Government during

2013-14 ?

(A) 3.7% of GDP
(B) 3.2% of GDP
(C) 2.9% of GDP
(D) 2.8% of GDP

‘Disguised Unemployment’ refers

to :
(A) persons with no jobs

(B) more persons employed for a

job which a few can accomplish
(C) unemployment among women

(D) unemployment of people above

60 years of age
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46.

47.

2013-14 Hi 3+ IS Bigigusl

el vy el ¢dl?
(A) W1y 2uas-L 3.7%
(B) Uy 2iasl 3.2%
(C) USY »udsu 2.9%

D) U st1a8t 2.8%

‘a9 G151 QA sl My 53

8 ?
(A) olRiU

(B) o 513 wlisol alis] 53] ud & W aud

disil M3 gousal
(C) wdlaul aRiaou

(D) so addl Gua-i disini waddl

aLR19u Tl



48.

49.

50.

What is the level of food production
in India in 2013-14 ?

(A) 257.1 MT

(B) 265.0 MT

(C) 252.0 MT

(D) 253.2 MT

The level of WPI Inflation during
2014-15 is :

(A) 74

(B) 6.0 .

(Cy -2.8

(D) 2.0

Which one of the following is the
objective of the Twelfth Five Year

Plan of India ?
(A) Faster and inclusive growth

(B) Faster, quick and reliable

inclusive growth

(C)

Faster, reliable and more

inclusive growth

(D) Faster, sustainable and more

inclusive growth
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48.

49.

50.

2013-14 Hi SitdML et Bedled 3eg
sd ?

(A) 257.1 ¥dls 2n
B) 265.0 #ls 2
(C) 252.0 Afls et
(D) 253.2 ¥ls e

2014-15 Ml weoia o viisl wesd]

HNAE ddl $oudl 82 deddl edi?:
(A) 74
(B) 6.0
(Cy -2.8

D) 2.0

Al 54 25 el 12 { duayly
Yzl Ay §?

(A)

»s5Ul v udawulae glg

(B) 254l 2 [asat-lly wdwulaee 9z

(C) »sul, [arqau-ly w4 qu?
wdwulaee qla
(D) asMl, 258 -1 a1 AR

9l
[P.T.0.]
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